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NPV = FCF, +FCF1+
B O " 1+ (1+r)N_

FCF, FCF,
1+irr 1+ irr)y

IRR: FCF, +

Value Created NPV VAL .
Profitability Index = = = —— = Indice de Rendibilidade
Resource Consumed  Resource Consumed Recurso Consumido

Net Working Capital = Cash + Inventory + Receivables — Payables = NW(C
Free Cash Flow = EBIT(1 — Tax Rate) + Depreciation — Capital Expenditures — A NWC
OR

Free Cash Flow = Net Income + InterestExpensex(1 — Tax Rate) + Depreciation — Capital Expenditures — ANWC

FCF,
PV(FCF,) = m = Valor atual do FCFt

Capital Gain = Sale Price — Book Value = Valor de Venda — Valor Contabilistico = Mais Valia

Book Value = Purchase Price — Accumulated Depreciation = Valor de Aquisicdo — Depreciagdes Acumuladas

= Valor Contabilistico

After — Tax Cash Flow from Asset Sale = Sale Price — TaxRatexCapitalGain
= Cash Flow liquido de imposto de Venda de Ativo

Enterprise Value = Market Value of Equity + Debt — Cash
Discounted Free Cash Flow Model:V, = PV (Future Free Cash Flow of Firm)

Vo + Cashy — Debt,
%" Shares Outstanding,

FCF, FCF, FCFy Vy
Vo = + et - =
1 + Twacc (1 + rwacc) (1 + 7"W(Z.CC) (1 + rwacc)

FCFy4q _ FCFyx(1 + gpcr)

Twacc — 9FcF Twacc — 9FcF

N

P—-V
Degree of Operating Leverage = DOL = Q(??(—V))F = GAO = Grau de Alavanca Operacional

P-V)—-F
Degree of Financial Leverage = DFL = « ) - = GAF = Grau de Alavanca Financeira
Q(P —V)—F — FinCost

P-V
Degree of Total Leverage = DFL = o ) - = GAT = Grau de Alavanca Total
Q(P —V)—F — FinCost

T

-1 1
R=¥(R1+R2+”'+RT)=7ZR1‘.

t=1



Var(R) = 1 i 1Z(Rt — R)?

SD(R) = +/Var(R)

value of investment i

Wi = Yotal value of portfolio

Ry, = wiRy + wyR, + - wyRy

E(R,) = w;E(Ry) + woE(R,) + -+ wyE(Ry)
cov(Ry, R;) = E [(Ri - E(R)) (Rj - E(R]))]

1 _ _
cov(R;, R;) = — (Rie —R)(R;: —R)
T —14a,

cov|R;, R;
COT'T'(RL', R]) = #
SD(R)SD(R;)
Var(R,) = wiVar(R,) + wiVar(Ry) + 2wywycov(Ry, Ry) =
=wiVar(R,) + w2Var(R,) + 2w,w,corr(R,,R,)SD(R,)SD(R,)

_ SD(Rj)corr(Ri,Rmkt) _ cov(RiRmkt)

Bi= =

SD(Rppe) Var(Rpyke)

Capital Asset Pricing Model: E(R;) = 17 + Bix(E[Ryke] — rf)

_ cov(Rp, RMkt)

P = TVar Rue) = w11 + Wy + -+ wyfy

. Preferred Dividend Divyrq
Cost of Preferred Stock Capital =1, = =

Preferred Stock Price Ppra

CAPM Cost of Equity =1z = 17 + BeX(E[Ryye] — 17)

Div
Constant Dividend Growth Model Cost of Equity = ry = 2 Ly g
E
E P
Weighted Average Cost of Capital = ryacc = FTPID Tz + FTPID Tp + FTPID

Net New Financing = ProForma Assets — ProForma Liabilities and Equity

rp(1—T¢)



